Lidkopings BK

Partavling 2021-11-03

Partavling, 10 bord, 20 par. Antal brickor: 24. Medel: 216.0.

Plac Par Poang % Namn MID Klubb
1 4 261.2 60.46 Irén Laang - Mikael Nyberg 86441 7628  Lidkdpings BK
2 15 250.4 57.96 Karl Berggren - Roger Thempo 88505 49570 Lidkopings BK
3 9 245.1 56.74 Inger Jansson - Margita Smedman 45136 37987 Lidkdpings BK
4 3 239.9 55.53 Arne Nyberg - Ulla Tjallen 56679 65691 Lidkdpings BK
5 2 237.6 54.99 Thomas Bergelin - Nils Nykvist 49114 49106 Lidkdpings BK
6 7 236.6 54.76 Marianne Bockmann - Jan Emilsson 20177 17384 Lidkdpings BK
7 1 233.0 53.93 Bengt Hjernestam - Gunnar Wéanstrom 33479 93435 Lidkdpings BK
8 13 228.3 52.84 Goran Ottersten - Ingegerd Hjernestam 14564 36965 Lidkdpings BK
9 18 2279 52.75 Birgitta Svensson - Reinhold Svensson 200397 68940 Lidkopings BK
10 17 220.2 50.97 Margaretha Strom - Kerstin Kéllervald 32904 17637 Lidkdpings BK
11 11 2149 49.76 Ronny Jonsson - Kenneth Norberg 1881 1875  Lidkdpings BK
12 19 2141 49.55 Urban Sandgren - Per Holmqvist 83315 86444 Lidkdpings BK
13 8 2111 48.86 Bo Roos - Anders Wersén 13691 25681 Ulricehamns BK - Skara BS
14 5 203.3 47.06 Per Larsson - Hans Ottersten 10701 68442 Falkopings BS - Lidkdpings BK
15 6 188.3 43.58 Jens Wallin - Hans Nyberg 86332 86437 Lidkdpings BK
16 10 187.7 43.45 Margaretha Nygren Eriksson - Barbro Almgren 41036 17195 Lidkdpings BK
17 14 184.4 42,69 Wanda Nilsson - Eva Carlbom 49161 36964 Lidkdpings BK
18 16 1823 4220 Kjell Jansson - Sixten Broberg 60670 36518 Lidkdpings BK
19 12 181.0 41.90 Anita Ljunggren - Gunvor Fagerholm 15061 14220 Lidkdpings BK
20 20 1729 40.03 Catarina Andersson - Ann-Britt Wanstrom 35292 32907 Lidkopings BK
1 4 ED7 Basta kontrakt 2 4 EKKn2 Basta kontrakt 3 4 E10875 Basta kontrakt
Nord v D874 5¢v N =450 Ost v10 3NT S =600 Syd v73 2v S =110
Ingen + E63 NS + Kn876 ov ¢ EKKn7
#Kn105 & ¢ v & NT «D976 & ¢ v & NT *73 & ¢ v & NT
4 K9652 4Knl103 N 7 11116 9 410986 4743 N 9 108 9 9 4 KDKn3 4962 N6 7877
v10 v Kn62 S 7 11116 9 vD97  vK853 S 9 108 9 9 v52 vKD109 S78877
41095 842 06 2272 + 104 + KD9 0325144 +D1062 483 06 5565
#KD72 #E643 V62272 #8543 &#EKn2 V32444 *EK9 #10842 V65566
484 «D5 a4
v EK953 v EKn642 v EKn864
¢ KDKn7 + E532 ¢ 954
#98 #K10 #DKn65
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
4 17 4v N+1 4J 450 100 80| 4 17 3NS= 4T 600 160 20|14 7 2v S+l A 140 18.0 0.0
6 14 4v S+1 49 450 100 80| 7 9 3NS= v7 600 16.0 2.0| 8 10 2¢ N+2 v9 130 16.0 2.0
7 9 4v N+1 4J 450 100 80|13 1 3NN= +9 600 16.0 20| 1 15 INV-1 4 100 13.0 5.0
11 3 4v N+1 4J 450 100 80|11 3 INN+3 +K 180 120 6.0|17 5 INV-1 47 100 13.0 5.0
12 15 4v N+1 4J 450 100 80| 6 14 3¢ S+3 45 170 100 80| 9 16 INS= *K 90 9.0 9.0
13 1 4v S+1 &2 450 100 80|19 2 INS+2 v7 150 8.0 10.0|13 2 2¢ N= vK 90 9.0 9.0
16 8 4v S+1 K 450 100 80|16 8 INN+1 ¢+K 120 6.0 12.0(11 18 24 N-1 +8 -50 6.0 12.0
19 2 4v S+1 ¢T 450 100 8.0|12 15 1v Q-2 «Q 100 3.0 150| 6 20 la V= ¢ A -80 4.0 14.0
20 5 4vy N+1 4J 450 100 80|20 5 1vO-2 «Q 100 3.0 150(19 3 24 N-2 vK -100 2.0 16.0
18 10 4v S= a5 420 0.0 18.0|18 10 1v O-1 ¢ A 50 0.0 18.0|12 4 INV+1 a5 -120 0.0 18.0
4 4 E75 Bésta kontrakt 5 454 Bésta kontrakt 6 10763 Bésta kontrakt
Vast vEDS8 34 V =-140 Nord vD2 34 OD-1100 Ost v Kn107 6y O =-1430
Alla ¢ 1042 NS + E9853 ov + K96
*E974 & ¢ v & NT #E854 & ¢ v & NT *K72 & ¢ v & NT
4 KKn98 4 D432 N7 6647 « EK9862 & Kn107 N6 96 45 4 E9 4 KD85 N4 1123
vK10972 vKn S766 47 v K76 v Kn1084 S6 96 46 v 86 v EKD94 S41122
+8 ¢+ E9765 06 7796 +4 ¢ KKn O7 4687 410852 ¢ EDKn O 9 1012109
«D85 «K102 V67796 #Kn63 #D1092 V74787 #108643 #5 V 9 1012109
» 106 «D3 & Kn42
v 6543 v E953 v 532
+ KDKn3 + D10762 ¢ 743
#Kn63 »K7 #EDKnN9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 2 INS+1 +8 120 170 10| 1 5 24 V-1 +8 50 170 10| 4 19 3vO+1 s] -170 18.0 0.0
19 3 INN+1 v] 120 170 10|15 2 3a4V-1 vQ 50 170 10 1 5 1lvO+4 «9 -200 140 40
8 10 1v V-1 +2 100 140 40|14 8 34V= ¢ A -140 13.0 5.0| 6 17 34 O+2 2 -200 14.0 4.0
1 15 INN= +6 90 100 8.0|18 12 34 V= *A -140 13.0 5.0|18 12 1v O+4 *A -200 14.0 4.0
9 16 INS= v7 90 100 80| 4 19 34 V+1 *A -170 6.0 12.0|14 8 1v O+5 A -230 10.0 8.0
11 18 INN= v] 90 100 80| 9 11 34 V+1 ¢ A -170 6.0 12.0| 9 11 3NV +1 v] -630 7.0 11.0
12 4 INO= +K -90 6.0 12.0|10 16 24 V+2 +5 -170 6.0 12.0(15 2 3NO+1 *0Q -630 7.0 11.0
6 20 INN-1 a5 -100 40 140|113 3 34 V+1 ¢ A -170 6.0 12.0|13 3 3NO+2 .7 -660 3.0 15.0
14 7 24 O+1 *6 -140 20 16.0|20 7 24 V+2 v2 -170 6.0 12.0{20 7 3NV +2 43 -660 3.0 15.0
17 5 INN-2 a2 -200 0.0 18.0| 6 17 34 V+2 *A -200 0.0 18.0|10 16 3NO +4 +4 -720 0.0 18.0
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7 4 ED10865 Basta kontrakt 8 4 K4 Basta kontrakt 9 » EK9863 Basta kontrakt
Syd vKn973 6¢ V =-1370 Vast v KKn42 3NT N =400 Nord v Kn872 64 N =980
Alla 463 Ingen + D652 ov +E9
»5 & ¢ v & NT #Kn103 & ¢ v & NT *Kn & ¢ v & NT
4KNn73 42 N21271 4 E86532 4 Kn N7 86 69 a2 « D5 N 8 6 121211
vEK542 vD8 S21271 v 876 vED105 S 6 86 6 8 v K54 v 963 S 8 6 121211
+8 ¢ EKDKn754 O 1012116 7 ¢+ Kn4 ¢ K97 06 577 4 + D82 ¢Kn107653 O 5 6 1 1 1
#9632 #EKKn V 1012116 7 *62 #K9875 V65774 #KD8532 #76 V56111
& K94 4 D1097 4 Knl1074
v 106 v93 vED10
+ 1092 + E1083 + K4
«D10874 *ED4 #E1094
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 18 5¢ V-1 »5 100 180 00|19 5 3NS= 42 400 180 00|15 4 64 N= ¢7 980 18.0 0.0
15 3 4¢ O+2 a K -170 160 2.0| 8 20 34DV-2 +6 300 16.0 20| 2 18 44 N+2 &7 480 9.0 9.0
2 6 50 0+1 4K -620 9.0 90|15 3 INN+2 «9 150 140 40| 3 7 44 N+2 &7 480 9.0 9.0
7 17 5¢ O+1 s K -620 90 90|14 9 3¢ S= «A 110 120 6.0| 6 19 44 N+2 +J 480 9.0 9.0
8 20 5¢ O+1 a4 -620 90 90| 2 6 24 V- v2 100 9.0 9.0|13 5 44 N+2 +J 480 9.0 9.0
10 12 5¢ O+1 4 K -620 9.0 90| 7 17 24 V-2 v2 100 9.0 9.0|14 10 44 N+2 +6 480 9.0 9.0
13 4 5¢ O+1 a4 -620 9.0 90|10 12 INS= a2 90 6.0 12.0|16 12 44 N+2 +J 480 9.0 9.0
14 9 5¢ V+1 aA -620 9.0 9.0[16 11 24 V- LN 50 40 14.0|17 8 44 N+2 +J 480 9.0 9.0
19 5 5v V= »5 -650 20 160| 1 18 240= v8 -90 20 16.0|20 9 44 N+2 *J 480 9.0 9.0
16 11 6¢ O+1 vT -1390 00 18.0|13 4 3NS- *6 -150 00 18011 1 74 N-1 ¢+5 -50 0.0 18.0
10 & EKD7 Bésta kontrakt 11 4 D92 Bésta kontrakt 12 410 Bésta kontrakt
Ost v K952 2NT O =-120 Syd vD64 3¢ VD-1100 Vast v K73 6NT N =1440
Alla +9 Ingen +82 NS + KDKn753
#9632 & ¢ v & NT #KD653 & ¢ v & NT #EKKn & ¢ v & NT
4 Knl054 492 N56 6 65 463 4Kn10754 N 9 5 8 6 8 4 Kn87432 4K5 N 6 12127 12
vD76 v EKn8 S56 6565 vEKn87 ¥109 S9586 8 v- vKnl0542 S 6 12127 12
¢ 743 ¢ E1052 086 7 78 ¢+ DKn96 ¢ EK73 048565 ¢+E ¢ 1062 061151
*E85 #KKn107 V86778 #Kn74  #82 V48565 #D109863 #542 V61151
4 863 » EK8 « ED96
v 1043 v K532 v ED986
+ KDKn86 + 1054 4984
+D4 #E109 *7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 1 INO-1 +K 100 180 0.0|15 5 INN+3 44 180 180 0.0|13 6 4v S+2 42 680 170 1.0
2 18 INO= + K 90 120 6.0(10 20 INN+2 ] 150 150 3.0|15 5 4v S+2 T 680 170 1.0
6 19 INO= +8 90 120 6.0(13 6 INN+2 4 150 150 30| 4 8 4vS= a7 620 11.0 7.0
15 4 INO= + K 90 120 6.0(19 7 2v S+1 46 140 120 6.0|10 20 5¢ N+1 45 620 11.0 7.0
16 12 INO= + K 90 120 60| 4 8 2NS= +Q 120 8.0 10.0|16 1 4v S= 8 620 11.0 7.0
17 8 INV= v2 90 120 6.0(14 11 INN+1 a4 120 8.0 10.0|17 9 5¢ N+1 &2 620 11.0 7.0
14 10 2¢ S-1 A -100 6.0 12.0|17 9 INN+1 aJ 120 8.0 10.0|12 2 44DV-2 ¥3 300 6.0 12.0
13 5 INO+2 + K -150 3.0 150(16 1 2&#S+1 6 110 40 14014 11 3¢ N+2 K 150 40 14.0
20 9 INV+2 s A -150 3.0 150|18 3 INN= ¢ A 90 20 16.0|18 3 4vS-1 &T -100 2.0 16.0
3 7 2vS-3 LY -300 00 18012 2 3vS-2 46 -100 0.0 18.0|19 7 6vyDS-1 +A -200 0.0 18.0
13 482 Basta kontrakt 14 s E42 Basta kontrakt 15 & EK87 Basta kontrakt
Nord v Kn862 54 N =650 Ost v 10543 44 O =-420 Syd v Kn83 2v V =-110
Alla + EDKn108 Ingen + K8543 NS + K
«D4 & ¢ v & NT *4 & ¢ v & NT #K9842 & ¢ v & NT
s E7 #1093 N 8 109 1110 4 K10763 & DKn N26 434 4Knl094 &D5 N7 7 476
v73 vKD109 S 8 109 1110 vEKKn2 vD9 S 26434 v E962 v K1054 S77 476
49532 4764 051421 ¢E ¢+ Kn1076 O 117 9 109 +Kn1082 ¢ E5 O6 586 7
#KKn865 #1093 V51421 #KKn2 #D10975 vV 117 9 109 *6 #Knl10753 V 6 5 8 6 7
&« KDKn654 4985 4632
vE54 v 876 v D7
+ K + D92 + D97643
*E72 *E863 *ED
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
1 3 44 S+2 &5 680 16,0 20| 8 19 3NO= v6 -400 160 20|15 7 INS+1 ] 120 18.0 0.0
11 20 44 S+2 v7 680 16,0 20|16 2 3NO= v8 -400 16.0 20| 1 14 INN= »3 90 13.0 5.0
15 6 44 S+2 &5 680 16.0 2.0(|17 10 3NO= #3 -400 160 20| 2 4 24 S= *6 90 13.0 5.0
16 2 44 S+1 v7 650 11.0 70| 5 9 4a V= &4 -420 8.0 10.0| 6 10 2¢ S= *6 90 13.0 5.0
17 10 44 S+1 v7 650 11.0 7.0|11 20 44 V= *4 -420 8.0 10.0| 9 19 2¢ S= *6 90 13.0 5.0
8 19 44 S= v7 620 7.0 11.0|14 12 44 V= LY -420 8.0 10.0|17 11 2v O+1 46 -140 8.0 10.0
18 4 44 S= v7 620 70 11015 6 4e V= L Y -420 8.0 10.0|13 8 2NN-2 v5 -200 5.0 13.0
5 9 44 S-1 v3 -100 20 16.0|18 4 44 V= *4 -420 8.0 10.0|20 12 2NN-2 v4 -200 5.0 13.0
7 13 44 S-1 v7 -100 20 16.0| 1 3 3NO+1 *6 -430 10 170(16 3 44 N-3 v4 -300 1.0 17.0
14 12 44 S-1 v7 -100 20 16.0| 7 13 3NO+1 »3 -430 10 170(18 5 3NN-3 »3 -300 1.0 17.0
16 +E8 Bésta kontrakt 17 4 Kn109 Bésta kontrakt 18 & K83 Bésta kontrakt
Vast vD10974 5¢ N =450 Nord v 10873 3v OD-1100 Ost v 9832 44 O D -3 500
ov ¢ E74 Ingen + EKn1094 NS + DKn106
*E96 & ¢ v & NT *8 & ¢ v & NT #95 & ¢ v & NT
4 KD952 & Kn1064 N 1011117 9 « E82 4« KD63 N6 94314 4 ED10765 494 N 8 8 106 9
vE32 vKn8 S 1011117 9 vDKn954 vK62 S6 9434 vKnl10 v 64 S 8 8 106 9
4 853 ¢ 1092 011161 ¢ 82 + K6 06 3867 498 ¢ E7542 04 4374
*Kn5 #10743 V11161 K74 #Kn632 V63867 +1084 #E762 V 44374
473 754 & Kn2
v K65 vE v EKD75
+ KDKn6 + D753 + K3
#KD82 #ED1095 #KDKn3
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
6 10 4v N+2 &6 480 180 0.0| 9 13 4v V-2 »8 100 170 10| 7 11 4v S+1 +9 650 16.0 2.0
1 14 4v N+1 ] 450 140 40|18 6 4v V-2 +A 100 170 10|18 6 4v S+l +9 650 16.0 2.0
13 8 4v N+1 T 450 140 40| 3 5 240-1 +Q 50 120 6.0|20 1 4v S+l ¢9 650 16.0 2.0
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18 5 4v N+1 aJ) 450 140 40| 8 15 14 O-1 +5 50 120 6.0| 3 5 4v S= A 620 8.0 10.0
17 11 4v N= «J 420 100 80|16 4 3v V-1 *8 50 120 6.0| 8 15 4v S= A 620 8.0 10.0
2 4 3NN= 44 400 70 11.0({19 10 4¢ N-2 v6 -100 80 10.0( 9 13 4v S= +9 620 8.0 10.0
15 7 3NN= «4 400 70 11.0| 7 11 2v V= *8 -110 50 13.0(17 12 4v S= A 620 8.0 10.0
9 19 3¢ S+2 *J 150 3.0 15.0(17 12 2y V= *8 -110 50 13.0(19 10 4v S= A 620 8.0 10.0
20 12 2¢ S+3 K 150 30 150(20 1 2NO= »5 -120 20 16.0|14 2 3v S+l 8 170 1.0 170
16 3 3NN-1 a4 -50 0.0 18014 2 2NO+2 *T -180 0.0 18.0|16 4 3v S+l aA 170 1.0 170
19 484 Basta kontrakt 20 # EKn8762 Basta kontrakt 21 4 965 Basta kontrakt
Syd v EKKn854 3a V =-140 Vast vE64 4v N =620 Nord vE9 24 O =-110
oV ¢E Alla + 87 NS ¢ EKn4
#D532 & ¢ v o NT #53 & ¢ v & NT #Kn10942 & ¢ v & NT
# E65 «4KKn1097 N 55 8 4 4 4 KD105 4943 N 105 107 6 4D842 4 KKn107 N8 76 47
vD7 v 96 S55844 v1075 v82 S 105 107 6 v10763 vK52 S876 47
¢ K862 ¢1094 088596 ¢ K963 ¢ ED1052 028266 410872 +K3 0456 86
#KKn74 #E86 V88596 *72 *E104 V27266 »5 #ED86 V45686
D32 .- «E3
v 1032 v KDKn93 v DKn84
¢ DKn753 ¢+ Kn4 + D965
£109 #KDKn986 *K73
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 16 44 O-2 42 200 180 0.0|13 10 4vS= +3 620 180 00| 2 17 INO-2 v4 100 180 0.0
8 12 2v N+1 6 140 140 40|17 1 3v S+l 6 170 150 3.0|11 13 INO-1 v4 50 140 4.0
13 10 3v N= A 140 140 40|20 2 3v S+l K 170 150 3.0|19 12 INO-1 v4 50 140 4.0
17 1 3v N= 6 140 140 40| 3 14 3#S+2 K 150 11.0 70|20 3 INO-1 v4 50 140 4.0
18 7 34 0-1 v2 100 100 8.0|19 11 34S+2 vT 150 110 70| 5 7 INO= v3 -90 7.0 11.0
4 6 3vN-1 +9 -50 6.0 120 4 6 3#S+1 ¢3 130 80 100 9 1 INO= vQ -90 7.0 11.0
15 9 4v N-1 a] -50 6.0 12.0|15 9 24 N= A 110 6.0 120(14 4 INO= +9 -90 7.0 11.0
20 2 4v N-1 s -50 6.0 120| 5 16 34 N-1 v8 -100 30 150(18 8 INO= v4 -90 7.0 11.0
3 14 34 0= vT -140 20 160 8 12 24 N-1 Ly -100 3.0 15.0(10 15 INO+1 ¢5 -120 2.0 16.0
19 11 5vDN-2 & -300 0.0 18.0|18 7 34 N-2 v8 -200 0.0 18.0|16 6 INDO= v4 -180 0.0 18.0
22 o E Basta kontrakt 23 4 K5 Basta kontrakt 24 4 D105 Basta kontrakt
Ost v EK103 54 SD-1-100 Syd v EKn4 74 VD-41100 |Vast v42 3NT V =-400
ov + KD9 Alla + KKn1062 Ingen + DKn42
#K7653 & ¢ v & NT +D102 & ¢ v & NT #KKn98 & ¢ v o NT
«D432  4K109765 N 104 9 2 7 «DKn763 4 E1084 N 4 12123 12 4EKN4 497 N56 474
v Kn64 v- S 104 9 2 7 vD v 1082 S 4 11113 8 vEKn73 v K10986 S56474
4108652 ¢ EKn4 039 2 103 ¢ 9743 +D 081191 ¢K109 ¢ EG6G3 077969
#Kn *E984 vV 39 2 103 £943 #KKn875 vgl1l91 *742 #E103 V87969
«Kn8 492 & K8632
v D98752 v K97653 vD5
+73 + E85 + 875
+D102 »E6 *D65
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 17 4v S+1 a4 450 170 10|19 1 4v S+3 vQ 710 180 00| 5 14 4v V-1 *Q 50 120 6.0
19 12 4v S+1 +J 450 170 10| 5 14 4v S+2 «Q 680 160 20| 7 16 4vO-1 46 50 120 6.0
9 1 4vS= 42 420 140 40| 6 8 4v S+l «Q 650 110 7.0| 9 18 4v0O-1 a2 50 120 6.0
5 7 3vS= *] 140 120 6.0|10 2 4v S+l 4Q 650 11.0 7.0]12 13 4v0O-1 43 50 120 6.0
11 13 4v S-1 *J -50 100 8.0(15 11 4v S+1 43 650 11.0 7.0|15 11 4v V-1 v2 50 120 6.0
10 15 5v S-2 *J -100 70 11017 3 4vy S+l 43 650 11.0 7.0|17 3 4v0O-1 +8 50 120 6.0
18 8 5vS-2 *] -100 70 11.0| 7 16 4vS= 6 620 40 14019 1 4v0-1 a2 50 120 6.0
20 3 44 N-3 oT -150 40 140| 9 18 4v S= 3 620 40 140|10 2 3v V= *8 -140 3.0 15.0
16 6 44DO= o7 -790 20 16.0(12 13 4v S= +Q 620 40 140|200 4 3v V= »8 -140 3.0 150
14 4 34aDO+3 v2 -1330 0.0 18020 4 3v S+2 #9 200 00 180| 6 8 4v V= ¢+ Q -420 0.0 18.0
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